
INSTALLATION INSTRUCTIONS

Sport Bar 2.0 
Volkswagen Amarok
2016-2019

Part No.

916000T
916000PS



INSTALLATION INSTRUCTIONS



Y Z

INSTALLATION INSTRUCTIONS

If you need installation service for your new product, call the authorized distributor from whom you purchased the 
product or an authorized installation service company which can be found by calling toll free 1-888-427-4466

2 Hours

TOOLS NEEDED FOR INSTALLATION:
•5/32” Hex Driver

•7/32” Hex Driver

•9/16”  and  ¾” Wrench

ESTIMATED TIME FOR INSTALLATION:

PARTS INCLUDED IN THIS LIST:

Go Rhino recommends you, the installer, read this installation instruction manual from front to back before 

installing the product. You may also click here to view an installation video or visit 

http://www.gorhino.com/Installation-Videos.

•Power drill

•17/32” Drill bit

© 2016 Go Rhino Products. All rights reserved

14

Y
Z

1
6

RIVET NUT INSTALL TOOL
3/8” RIVET NUT

916000T

3/8” STAILESS NUT

http://www.gorhino.com/


STEP # 1

INSTALLATION INSTRUCTIONS

© 2016 Go Rhino Products. All rights reserved



STEP # 2

INSTALLATION INSTRUCTIONS

© 2016 Go Rhino Products. All rights reserved

•Assemble the mounting base with the 
front and rear tubes as shown. Use the 
spacer specified with the front and rear 
tube.

•Attach each tube to the mounting base 
using (2) ” flat washers, (2) ” lock washers 
and (2) ” x 1 ” hex bolts, per side.

•Do not install items 11 and 12, cover 
plates, if a bed cover is going to be used.

•Do not fully tighten bolts, leave loose for 
final adjustments.



STEP # 3

INSTALLATION INSTRUCTIONS

© 2016 Go Rhino Products. All rights reserved

•Attach side covers using (5) ” flat washer, 
(5) ” lock washer and (5) ” x  ” button 
head bolts, per side.

•Tighten screws to 70 in/lbs Max. DO NOT 
OVERTIGHTEN SCREWS



INSTALLATION INSTRUCTIONS

If holes can not be drill through top and bottom 
of bed rail proceed to step #4.1.



STEP # 4.1

Drill 17/32” holes through top side of bed 

rails.

Apply automotive primer to any exposed

metal.

Hand toghten Rivet nut, Item T to rivet nut

install Tool, Item S

Insert Rivet Nut into 17/32” hole.

Hold spacer with ¾” wrench.

Thigten bolt with 9/16” wrench or socket and 

ratchet, this will compress the rivet nut.

Once tight, unscrew the bolt and river nut will

be installed

INSTALLATION INSTRUCTIONS

© 2016 Go Rhino Products. All rights reserved

X

Y



INSTALLATION INSTRUCTIONS

© 2016 Go Rhino Products. All rights reserved

STEP # 5

•Apply automotive primer to any exposed 
metal.

•Place the sport bar over drilled 
mounting holes using the mounting base 
spacer as shown, both sides.

•Tighten all front and rear tube bolts to 26 ft/lbs Max. DO NOT OVERTIGHTEN BOLTS
•Check and retighten all nuts and bolts periodically.

•Attach the sport bar using (3) 3/8” bolt plates and 
(3)3/8 ” x 1 1/4 ” flat head bolts, per side.

E

F

D



INSTALLATION INSTRUCTIONS


